DRAWING #: 043707

CONTROL PANEL

24
EXPLODED VIEW

PAGE 1 OF 3

(

'

'

'

'

'

'

'

'

L}
REVISION: D
DATE: 8/17/12



EXPLODED VIEW: CONTROL PANEL

DRAWING #: 043707

APPLICABLE TO: 2011 HSB

ITEM PART # QTY. DESCRIPTION
1 022097 2 WASHER LOCK M6-1/4
2 0H6680D 1 ASSY CNTR PROGRAMMED
3 0H8030 3 SCREW HHFC M5-0.8X12 W/PAT CH
4 0H7359 1 BRACKET CUSTOMER CONNECT
5 0D7178T REF FUSE, ATO TYPE 7.5AMP (BROWN)
6 049813 2 NUTHEX M6X 1.0 G8 YEL CHR
7 0H7360 1 COVER CUSTOMER CONNECT
8 0H8029 3 SCREW HHFC M6-1X12 8.8 W/PATCH
9 0F5458 2 SCREW HHSP #10X3/8 HI-LO
10 067165 4 SCREW HHC M4-0.7 X 25 SEMS
11 0E6523 2 GROUND BAR
12 0G8058 2 SCREW PPHM M3-0.5 X 16 SEMS (8KWONLY)
0G8058 4 SCREW PPHM M3-0.5 X 16 SEMS
13 0G7537 1 CBBRACKET CONTROL BOX
14 0C2174 1 RELAY 12V 25A SPST (10 - 20KW)
15 0E 3969 2 SCREW PPHM M3-0.5 X 30
16 0G7714 1 ASSY PCB TRIP LED DISPLAY
17 0G7568 1 CBO0015A1P 120V S BQ1LB (17 -20KW)
18 0G7621 3 SCREW HH HI-LO M4X10MM (17 - 20KW)
0G7621 1 SCREW HH HI-LO M4X10MM (8 - 14KW)
19 0G7717 2 SCREW REDUCED HH HI-LO M6X10MM
20 048850 1 BLOCK TERM 5P0OS 20A
21 0H7853 1 TERM BLOCK 3P UL12-20AWG
22 0G7445 1 EYE HASP CNTRL PANEL
23 0H6924 1 ASSY CONTROL BOX (8 -14KW)
0H6924A 1 ASSY CONTROL BOX (17 - 20KW)
24 0J2860 2 PLUG PLASTIC DOME 716"
25 0E4261 1 OUTLET, 15A GF CI DUPLEXWHITE (17 - 20KW)
26 0E7886B 1 CBO0035A 2P 240VSBQ2LB (8KW)
0E7886D 1 CB0045A 2P 240V S BQ2LB (10KW)
0E7886K 1 CB0055A 2P 240V S BQ2LB (13KW)
0E7886F 1 CBO060A 2P 240VS BQ2LB (14KW)
0E7886J 1 CBO0065A 2P 240VS BQ2LB (17KW)
SEE SHEET3 1 SEE SHEET 3 (20KW)
27 0J3003 1 HARNESS 8KW (NOT SHOWN)
0J3004 1 HARNESS 10KW (NOT SHOWN)
0J3005 1 HARNESS 14KW (NOT SHOWN)
0J3006 1 HARNESS 177KW (NOT SHOWN)
0J3007 1 HARNES S 20KW (NOT SHOWN)
REVISION: D

DATE: 8/17/12

PAGE2 OF 3



EXPLODED VIEW: CONTROL_PANEL
DRAWING #: 043707

APPLICABLE TO: 2011 HSB

20KW MODELS
UP TO SERIAL# 7305709

ITEM PART # QTY. DESCRIPTION

26 0E7886H 1 CB0100A 2P 240V S BQ2 LB (20KW)

FROM SERIAL# /7305710

ITEM PART # QTY. DESCRIPTION
26 0E7886M 1 CB90A 2P 240V S BQ2LB (20KW)
REVISION: D

DATE: 8/17/12

PAGE 3 OF 3



